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WA 31.4 JtiEE 19.2 1,728 1512 1,188 10 Va9 LL
IZALA 22.9 E & 17.9 - 1512 - 10 vay L
ZIES5 24 f [F 0.1 — 1,620 — 10 L
[E<E0y 18.5 E % 17.2 1,944 864 864 15 L
HTE 2.5 BERE 0.5 3,024 2,808 1,728 4f A M
CEOH 8.4 BERE 42 1,836 1,728 1,620 4f A M
Fry 86.5 = I 62.6 1,080 864 756 0] A 8
IE5NAZES 2.0 BERE 0.9 3,024 2,592 2,160 4f A M
hE 6.0 ERE 3.7 1,080 972 756 3l A L
_hE 1.6 ik B 0.9 3,240 — 2916 3 M
_hE 2 [ 0.5 3,240 — 2,592 3l A M
125 24 ElG 1.1 2,700 2,700 2,430 5] vay
+)L1)— 0.7 & % 0.4 3,564 3,564 2,160 10 A LL
T RAINSHR 3.7 B A 3.3 — 119 — 01| vay M
LA 314 E % 31.2 1,706 1,706 1,512 10 A 16
FoT YA 1.6 12 [ 0.7 864 — 756 2 A L
=Y 21.4 BRE 8.0 1,080 756 648 5/ A L
=p5Y ElG 7.8 1,728 1,674 1,620 51 B M
ANESSES) 17.1 BRE 11.9 — 2,700 — 0] A 6
Y 7.4 EES 48 3,041 — 2851 8
Y = I 1.9 2,376 2,268 1,836 5/ A L
k< 27.9 EES 13.6 1,296 — 1,188 4 vay L
d X & 11.9 1,944 1,080 972 4 A 24
S 7.1 BERE 3.4 1,404 810 810 3l A M
E—<> 7.9 X 7 3.3 97 86 86 0.15 A M
E5EACL 6.6 K B 2.3 1,814 1512 605 5] A LL
x93 2.6 BRE 2.6 151 108 97 0.3
IZH5Y) 7.2 BERE 6.9 1,728 1,404 1,080 3l A L
SPVAITFA 0.2 X & 648 - 567 150 A LL
MrAL& 5.6 E X 5.6 2,376 2322 2,160 5 M
[ES AT 45.2 E I 44.2 — 918 — 10] vay 3L
IEhi s E 15 - 918 — 10 va9 LL
=& 1.7 = I 0.2 5,940 4,536 4536 0] A
f=Fh&E 52.5 = B 51.5 — 3,240 — 20 va9 L
5oELD 1.8 BRE 1.8 3,240 2,700 2,160 0] A M
ELLVE=T 1.6 BERE 0.1 — 119 — 0.1 A L
ELLV=IT =I5 1.0 86 — 76 0.1 A M
ZADEET 48 E I 3.0 32 25 22 0.1 A
LoHL 2.7 2 [ 2.2 97 70 65 0.2
L EA S 466.3
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BMAHMAEE 34
INDRH A 34 = B 3.3 4,320 — 3,240 5 vay L
INGRH DA kB 5,400 — 4,860 5] vay M
INGRH DA kB 5,940 5,940 5,400 5] vay S
LEY 2.0 T A)H 2.0 7,020 6,480 5616 17 115
INLUVT 26 TA)H 2.1 7,344 3,240 3,240 17 88
L7 2)1LY 0.3 mr2Y 0.3 — 4536 — 15 50
YATE 13.1
2aF3ILK 2.9 5 & 2.9 6,696 4,536 4,536 10
AL 9.7 5 & 9.7 - 5,940 — 100 32
EX S 0.4 5 & 0.4 5,940 4,752 4,752 10
3HEH 24
34 24 B X 1.9 292 — 270 03| 71¥a L
FTHHE 15
EEX3 1.5 BRE 1.1 3,240 — 2,700 5/ A L
fipYp) 0.6 2 0.6 324 — 216 02| vay LL
fipYp) W iz 324 — 216 02| vay L
fipYp) W 432 216 216 02| vay M
58 7.8 FOErL 0.3 — 1,404 — 1] a9 LL
SESE 0.9
F5HTF 0.4 = I 0.1 - — — PR LL
F5917F =I5 - 3,629 — 16 A L
To9z7F = - - - PR M
Big 0.3 2 E 0.2 - 756 — 03] B 4L
EA—=x 0.1 2 [ 0.1 — 12,960 — 5| 7hva 12
W5 0.4 BRE 0.4 — 648 — 025 A M
W52 BRE 270 — 238 025 A S
(A% =Y TAH — 11,578 — 4
AOVEF 40
7—ILA 0.9 EES 0.4 6,480 — 5,940 s| 1y 3L
AHZ 1.5 Ik 15 2,592 2,160 2,160 5[ vay 3L
ZDhAOY 1.6 BE X 0.6 4,320 3,780 3,024 8l Va9 LL
FLE 27.1
ELAY 23.0 X 9 28 6,232 - 5,346 16 vam 3L
EXAY:) X & - 6,232 - 18] vay 4L
ZfEETLVH 4.1 BERE 3.3 4536 - 4,320 10 A LL
INFF 134 EUEY 134 4,104 2,808 2,700 15
NAFvTIL 33 EUEY 33 3,240 2,916 2,916 10 8
FoA47)LY 1.2 - 1.2 2,808 2,484 2,484 4 30
REET 85.5




